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Teil A: Grammatik

51- Der friihere polnische Regierungschef Donald Tusk tritt sein..... neu..... Amt als
EU-Ratsvorsitzender an.
1)—/—-es 2)—en/—en 3)—/—er 4)—em/—en
52- Der britische Premier David Cameron will 2017 ein EU-Referendum abhalten,
.......... er im kommenden Jahr die Wahlen gewinnt.
1) damit 2) falls 3) indem 4) obwohl
53- Wie lautet das Passiv Imperfekt von »verurteilen« im folgenden Satz?
Hunderte von Mursis Unterstiitzern .......... zum Tode .....eee. &
1) sind / verurteilt worden 2) wurden / verurteilt
3) waren / verurteilt worden 4) werden / verurteilt
54- Mit der Bezeichnung ,,Heiliges Romisches Reich“ wollte man unter anderem die
Herrschaft als Gottes ...... legitimieren.
1) heiligem Willen  2) heilige Wille 3) heiligen Willen  4) heiligem Wille
55- Otto L versuchte zuerst die neu entstandenen Stammesherzogtiimer ..... .
1) seine Macht unterzustellen 2) seiner Macht unterzustellen
3) seine Macht zu unterstellen 4) seiner Macht zu unterstellen

Teil B: Vokabeln

56- Die Partei »Patria« war wenige Tage vor der .......... wegen illegaler
Wahlkampfspenden ausgeschlossen worden.
1) Abstimmung 2) Insolvenz 3) Eréffnung 4) Freilassung
57- Die Nazi-Vorwiirfe gegeniiber Altkanzler Helmut Schmidt (95) schlagen derzeit
hﬂhe TEEEERNNEE @
1) Bille 2) Flammen 3) Wellen 4) Temperaturen
58- Die Fliige vieler Fluggesellschaften sind Lufthansa zufolge nicht von dem Streik
.......... und finden planmiiBig statt.
1) ausgenommen 2) betroffen 3) iiberzeugt 4) angesteckt
59- Heiliges Romisches Reich war die offizielle ..... filr den Herrschaftsbereich der
rémisch-deutschen Kaiser ab 962 bis zum Jahre 1806.
1) Kundgebung 2) Mitteilung 3) Deklaration 4) Bezeichnung

60- Unter der langen Regierung von Friedrich Il (1440-1493) wurde der Grundstein

fiir die spiitere habsburgische Weltmachtpolitik ..... .
1) gelegt 2) gestellt
3) injeziert 4) zusammengestellt
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Teil C: Leseverstehen

Westliche Demokratien hthlen nach Ansicht des US-Journalisten Glenn Greenwald (47)
unter dem Deckmantel der Terrorbekdmpfung die Biirgerrechte immer weiter aus.
yDemokratie wird so zu einer Illusion, einem reinen Symbol, einem Witz«, sagte der
diesjihrige Triiger des Geschwister-Scholl-Preises am Montag in Milnchen vor seiner
Auszeichnung fiir sein Buch »Die globale Uberwachung«. Er hoffe, dass Auszeichnungen
wie der Geschwister-Scholl-Preis filr ihn auch andere Menschen ermutigten, Missstinde
aufzuzeigen. »Als engagierter Jurist und leidenschaftlicher Journalist warnt Glenn Greenwald
vor einem michtigen Uberwachungsapparat, der unsere Privatsphéire zu zerstbren und die
Grundlagen der Demokratie zu untergraben droht«, hieB es in der Jury-Begriindung.
Greenwald hatte als Journalist des britischen »Guardian« die Enthilllungen des Ex-NSA-
Mitarbeiters Snowden verdffentlicht. »Sogar in unseren wildesten Trédumen hétten wir nicht
auf diese Auswirkungen gehoffi«, sagt Greenwald Ober das, was Edward Snowdens
Enthilllungen weltweit ausgeldst haben. Zwar sei kein NSA-Verantwortlicher zur
Rechenschaft gezogen worden - der Druck auf Internetfirmen, die Daten von Nutzern zu
schiltzen, sei aber gewachsen und viele Menschen seien sich des Risikos heute deutlicher
bewusst. Greenwald ist damit einer der wichtigsten Journalisten hinter den NSA-
Enthilllungen. Snowden vertraute ihm und der Dokumentarfilmerin Laura Poitras sein Archiv
geheimer NSA-Dokumente an, Der mit 10000 Euro dotierte Preis erinnert an Hans und
Sophie Scholl, die ihren Widerstand gegen das NS-Regime mit dem Leben bezahlt hatten.

61- Was erhofft sich Greenwald vom Geschwister-Scholl-Preis?
Dass er die anderen Menschen auch dazu bewegt, ..........
1) auf die Missstéinde aufmerksam zu machen.
2) sich gegen die Medienmachthaber zu wehren.
3) sich aktiv fiir eine globale Uberwachung einzusetzen.
4) die westliche Demokratie mit mehr Fantasie zu verteidigen.
62- Die Auswirkungen, die Snowdens Enthiillungen erzielt hatten, waren selbst fiir
Greenwald .......... .
1) unakzeptabel 2) vorhersehbar
3) tiberraschend 4) verdrieBlich
63- Die NSA-Enthilllungen haben laut Greenwald zumindest zur Folge, dass u. a. ........
1) Snowden nicht mehr in die USA zurtickkehren kann,
2) die Internetfirmen transparenter mit Nutzerdaten umgehen wollen.
3) viele NSA-Verantwortliche seit den Enthilllungen hinter Gittern sitzen.
4) die Internetnutzer sich des Risikos eines Missbrauches ihrer Privatdaten durch
Geheimdienste deutlicher bewusst sind.

64- Woran sollte der Geschwister-Scholl-Preis urspriinglich erinnern? An ..........
1) die Folgen des Zweiten Weltkrieges 2) die Biicher von Geschwister Schull
3) den Widerstand gegen die Nazis 4) die Griueltaten von Stasi-Mitarbeitern
65- Greenwald ist der Ansicht, die Terrorbekiimpfung im Sinne der westlichen
Demokratie .......
1) fordere definitiv die Bilrgerrechte.

2) verdiene besondere Aufmerksamkeit.
3) diene nicht der Verstindigung der Vélker.
4) verschlechtere nur die Lage der Biirgerrechte.
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Teil D: Geschichte und Kultur

66- Bei welchem handelt es sich um keinen Komponisten?
1) Wilhelm Richard Wagner 2) Caspar David Friedrich
3) Johannes Brahms 4) Ludwig van Beethoven
67- Welche der folgenden Stiidte ist keine Landeshauptstadt?
1) Frankfurt 2) Wiesbaden 3) Diisseldorf 4) Saarbriicken
68- Eine Fraktion (im Bundestag) ist eine parlamentarische Gliederung, in der .........
zusammengeschlossen sind.
1) die Mitglieder eines Ausschusses
2) alle Abgeordneten der regierenden Parteien
3) der Bundestagspriisident und seine fiinf Vizeprisidenten
4) alle Abgeordneten einer Partei oder befreundeter Parteien
69- Welcher deutsche Politiker war als »Eiserner Kanzler« bekannt?

1) Adolf Hitler 2) Helmut Kohl
3) Konrad Adenauer 4) Otto von Bismarck
70- Welche Koalition regiert momentan die Bundesrepublik Deutschland?
1) CDU und Biindnis 90/die Grilnen 2) CDU/CSU und FDP
3) CDU/CSU und SPD 4) SPD, FDP und CDU
71- Welches Bundesministerium ist in Deutschland fiir Ausbildungsfdrderung
zustiindig? Das Bundesministerium .......... .
1) des Inneren 2) fiir Bildung und Forschung

3) fiir Verkehr und digitale Infrastruktur ~ 4) fiir Familie, Senioren, Frauen und Jugend
72- Welche der folgenden Persdnlichkeiten ist/war kein Nobelpreistriiger der Literatur?
1) Bertold Brecht 2) Giinter Grass 3) Herman Hesse 4) Gerhart Hauptmann

73- Die (vier Sonntage umfassende) vorweihnachtliche Zeit wird allgemein als .....ccvvuerieens
bezeichnet.
1) Advent 2) Pfingsten 3) Ostern 4) Karwoche

74- Wenn man von der Mentalitit der Deutschen spricht, dann kommen vor allem
die folgenden Tugenden in Frage:

1) Toleranz, Disziplin, Geschicklichkeit und Piinktlichkeit
2) Disziplin, Trockenheit, Sachlichkeit und Pilnktlichkeit
3) Piintlichkeit, Intelligenz, Disziplin und Sachlichkeit

4) Disziplin, Intelligenz, Pilnktlichkeit und Toleranz

75- Mit der Errichtung ...... wollten die Westalliierten nach der Berliner Blockade im
Jahre 1948 die Versorgung von Westberlin aufrechterhaiten.
1) eines Militédrpostens 2) einer Militéirzone
3) einer Luftbriicke 4) eines Grenzgebiets

T6= Dr scniciisvisisvinnsisass als Staatsoberhaupt filhrt die dsterreichische protokollarische
Rangordnung an.
1) Bundestagspriisident 2) Bundesprisident
3) Bundeskanzler 4) Ministerprdsident
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78-

79-

In Deutschland wird das zentrale Rechtsdokument, eben das Grundgesetz, als ......
bezeichnet.

1) Deklaration

2) Manifest

3) Statement

4) Verfassung

Der zwischen 1618 und 1648 dauernde Krieg in fast allen europiiischen Liindern
wird in der deutschen Geschichte als ...... bezeichnet.

1) Religitser Krieg
2) Katholischer Krieg

3) Evangelischer Krieg
4) DreiBigjéhriger Krieg

Wolfgang Amadeus Mozart war ein dsterreichischer ...... der Wiener Klassik.

1) Autor

2) Dichter

3) Komponist

4) Maler

Die drei filhrenden Gewalten in Deutschland und Osterreich sind ...... .
1) die militéirische Gewalt, die administrative Gewalt und die religidse Gewalt
2) die gesetzgebende Gewalt, die ausfilhrende Gewalt und die militirische Gewalt
3) die vollziehende Gewalt, die gesetzgebende Gewalt und die rechtsprechende Gewalt
4) die administrative Gewalt, die parlamentarische Gewalt und die ausfithrende Gewalt
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88-
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Veldzquez es un célebre pintor del..........covevnres ; una de sus obras m4s conocidas
es el cuadro de........cocvenvnnnns

1) Modemismo- “La siesta

2) Cubismo- ‘Las sefioritas de Avifidn’.

3) Barroco- ‘Las meninas’.

4) Surrealismo- “Retrato de mi padre"

“La Espaila oficial y la Espaiia vital” es la obra conocida de .......cccocvvnvuvanen y se

trata de ..ooicceenienconsranannrancsansss

1) Miguel de Unamuno- la critica del estado de atraso de la sociedad espafiola.

2) Antonio Machado- la necesidad de modernizacién y europeizacién de Espaiia.

3) Carmen de Burgos- la lucha por el voto femenino y las demandas por un mayor
acceso de la mujer a la educacion.

4) José Ortega Y Gasset- la relacion entre las instituciones y los 6rganos de gobierno y
los ciudadanos.

A veces la ruptura amorosa-—-—-—-—daiios fisicos y mentales, en ocasiones

dificiles de superar.

1) causa

2) es debido a

3) procede de

4) proviene de

Si, el tiempo fue una-—-— bastante negativa en el viaje, no se puede decir que

nos acompaiiara, en absoluto: estuvo todo el tiempo loviendo.

1) acontecer

2) circunstancia

3) oportunidad

4) aventura

- Por qué nos ha llamado el director para una reunion?

No lo sé, muchas cosas que decirnos.

1) Tendra

2) Tuvo

3) Habia tenido

4) Hubiera tenido

Menciona escritores espaiioles que hayan obtenido el Premio Nobel.

1) Federico Gareia Lorca, Calderdn de la Barca, Miguel de Unamuno

2) Juan Ramoén Jiménez, Camilo José Cela, Federico Garcia Lorca

3) Miguel de Unamuno, Calderén de la Barca, Vicente Alexandre

4) Vicente Aleixandre, Juan Ramon Jiménez, Camilo José Cela,

“Carpe Diem” es un tépico literario que consiste en ......cvuveines =

1) la exhortacion al aprovechamiento de la juventud.

2) la descripcion de una muchacha que refleja el ideal de belleza femenina.

3) el uso de expresiones dificiles e ingeniosas para crear un concepto especifico.

4) la seguridad renacentista en el ser humano y su capacidad de controlar el mundo que
lo rodea.

Ahora se me ocurre que tal vez nunca haya ocupado la atencién de esta gente.

Es una proposicién:

1) incluida adjetiva

2) incluida sustantiva

3) incluida adversativa

4) endocéntrica sustantiva
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En Espaiia se come, se bebe y no se trabaja.

Es una construccion:

1) coordinada adversative

2) coordinada yuxtapuesta

3) coordinada copulative

4) coordinada consecutiva

Nuestra América es la obra destacada de ~—-—-

1) Américo Vespucio

2) Jos¢ Marti

3) Riben Dario

4) Juan Domingo Per6n

El gobierno ha atendido todas las reivindicaciones de los trabajadores, pero no ha
concedido algunos aumentos salariales. Es una oracion:

1) subordinada sustantivada.
2) coordinada sustantivada.
3) coordinada adversativa.
4) subordinada adversativa.
Muchas tiendas del centro estdn cerrando --
dénde ir a comprar.

1) porque

2) a causa de que

3) con el fin de que

la gente sin coche no tiene

4) dada esta situacion

No puedo ponerle el tapin a la botella. Estéd pasado de rosca.

1) no ajusta

2) ha desaparecido

3) estd perdido

4) esta rota

“Las leyes de la termodindmica impiden que un cuerpo caliente transfiere de
forma............ su energia a otro mis caliente”,

1) irreflexiva

2) espontanea

3) inconsciente

4) subconsciente

Juan viajaba con una cuerda en la maleta para escapar por la ventana, por si el
hotel
1) se incendie

2) se incendiaria

3) se incendiaba

4) se habrén incendiado

Muchos problemas de pareja la aparicién de terceras personas, por
ejemplo, los hijos.

1) se deben

2) proceden de

3) son causantes de

4) provienen de
Los criollos eran
1) descendientes de espafioles nacidos en América Latina.
2) descendientes de africanos nacidos en América Latina.
3) negros que ocupaban cargos administrativos.

4) negros insurgentes.
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98- Forjarse una imagen de sus propios origenes, su desarrollo e identidad era de las
caracterizaciones mas notables de la civilizacién
1) Aimaras
2) Aztecas
3) Mayas
4) Olmecas
99- Espaila pudo conservar sus colonias frente a Portugal gracias a
1) los masacres que se cometio a su entrada a este continente.
2) la colaboracién de las indigenas en administrar el pais.
3) la asociacidn de las indigenas en la explotacion de las factorias.
4) las largas guerras fronterizas que tuvo con los drabes en la peninsula ibérica.
100- El uso de las factorias que facilitaba las conquistas a gran escala era de las
caracteristicas de
1) los portugueses experimentado por Colén.
2) los espafioles experimentado de los drabes.
3) los portugueses experimentados de los Reyes Catdlicos.
4) los espafioles para evitar de las penetraciones profundas en el continente.
101- En 1523 se establecié “El Consejo de Indias” con el objetivo de.............
1) impedir las sublevaciones de las indias.
2) expandir las colonias en América Latina.
3) controlar y unificar los intereses de las provincias.
4) garantizar las ganancias econdmicas de la familia Real y el clérigo.
102- ;Cusl era el pretexto de la rebelién de los pizarristas?
1) imponer leyes nuevas.
2) lograr la independencia del Nuevo Mundo.
3) favorecer econémicamente a las indigenas.
4) eliminar las discriminaciones e injusticias sociales.
103- ;Por qué Carlos III reivindicé su poder sobre la iglesia?
1) porque la iglesia no le obedecia mas.
2) por seguir la experiencia de Portugal.
3) porque no pagaba los tributos a la Corona.
4) porque apoy¢ a los Ingleses en la conquista de Cuba.
104- ;Entre qué paises se firmé el Tratado de Methuen y cudl fue su naturaleza?
1) se firm6 entre Espafia y Francia con propdsitos comercios.
2) se firmé entre Espaiia y Portugal con propdsitos politicos.
3) se firmé entre Espaiia e Inglaterra con propésitos de comercio libre.
4) se firmo6 entre Portugal e Inglaterra con propdsitos de libre comercio.
105- ;Cuail es el evento més destacado que ocurrié en 17797
1) las mujeres tras una sublevacién contra las leyes reclamaron su derecho para trabajar,
2) las guerras de independencias garantizaron la presencia de las mujeres en las fabricas.
3) el Rey Carlos III, aboli6 los reglamentos gremiales y asi las mujeres pudiero trabajar.
4) 1779 la Iglesia decreto una ley que mediante la cual permitia la incorporacion de las
mujeres en la sociedad.
106- T dale que dale con tu monserga. Es una oraciéon:
1) copulativa 2) disyuntiva 3) distributiva 4) adversativa
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107- El climax es una de las figuras retoricas que
1) se coloca delante del sustantivo y expresa una cualidad de alguna persona o cosa.
2) omite las conjunciones para dar a la frase mayor dinamismo.
3) consiste en designar un objeto con el nombre de otro debido a que hay una relacion
de coexistencia,
4) expresa una cadena o serie de pensamientos que siguen una progresion ascendente o
descendente.
108- Con el leninismo en América Latina se propuso abiertamente
1) una politica tradicional y de la institucionalidad democritica.
2) la premisa bolchevique de transformar la guerra europea en una gran guerra civil.
3) un activismo revolucionario que estaba en las antipodas del parlamentarismo estricto.
4) la expresion de la presencia o el peso abusivo de los militares en la esfera politica de
los diversos paises.

109- El liberalismo coincidi6 con el literario y los escritores pusieron su
pluma al servicio de los problemas politicos y sociales.
1) Realismo 2) Naturalismo 3) Modernismo 4) Romanticismo
110- El término de la inculturacion se refiere .

1) al encuentro de una religion con la otra ajena.

2) a la imposicion de una religién a una cultura ajena.

3) a la pérdida de la cultura propia y la adopcién de la otra sin tocar el aspecto religioso.
4) al encuentro de una cultura con el Evangelio, que no es propiamente una “cultura”.
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PARTC: Reading Comprehension:

PASSAGE 1:

A subculture is a cultural group within the larger society that provides social support to
people who differ from the majority in terms of status, race, ethnic background, religion, or
other factors, Whenever these differences lead to exclusion or discrimination, subcultures
develop as a shield to protect members from the negative attitudes of others. Subcultures
unify the group and provide it with values, norms, and a history.

Some subcultures do not experiece discrimination yet differ from the mainstream enough
to generate a "we" feeling among members and a sense of separateness. Examples include
military officers, college students, information technology specialists, social workers, jazz
musicians, or any subgroup with its own special language and customs. Subcultures usually
have values that are variations on those of the dominant culture. These variations are close
enough for the subgroup to remain under the societal umbrella but different enough to reflect
the unique experience of subgroup members, In North America today, teenagers are a distinct
subculture with a special way of talking and dressing so that insiders can recognize another
while keeping outsiders out.

111- What is the writer’s purpose in this passage?
1) To compare two social groups
2) To discuss social problems faced by minorities
3) To emphasize the need for the provision of social support
4) To discuss the function of a specific kind of cultural group
112- According to the passage, subcultures are formed within societies in order to

1) promote racist attitudes

2) fight for the rights of minorities

3) eliminate factors that cause differences among social groups

4) familiarize the public with such issues as status, race, and religion
113- The word "those" in line 10 refers to .

1) cultures 2) values 3) variations 4) subcultures
114- The passage states that some subcultures

1) have their own languages, norms, and traditions

2) have reunited with the majority to generate a "we" feeling

3) try to eliminate the sense of separateness among members

4) tend to develop negative attitudes toward the dominant culture
115- Why does the author refer to teenagers in North America in paragraph 27

1) To refer to the socialization process in North America

2) To provide a definition for a concept introduced earlier in the passage

3) To provide evidence to support an idea expressed earlier in the passage

4) To explain how North American teenagers interpret the concept of subculture
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PASSAGE 2:

Unlike earlier campaigns, the 1960 presidential campaign featured the politically
innovative and highly influential series of televised debates in the contest between the
Republicans and the Democrats. Senator John Kennedy established an early lead among the
Democratic hopefuls and was nominated on the first ballot at the Los Angeles convention to
be the representative of the Democratic party in the presidential elections. Richard Nixon,
then serving as vice president of the United States under Eisenhower, received the nomination
of the Republican party. Both Nixon and Kennedy campaigned vigorously throughout the
country and then took the unprecedented step of appearing in face-to-face debates on
television. Political experts contend that the debates were a pivotal force in the elections. In
front of a viewership of more than 100 million citizens, Kennedy masterfully overcame
Nixon's advantage as the better-known and more experienced candidate and reversed the
public perception of him as too inexperienced and immature for the presidency.

116- Which of the following best expresses the main idea of the passage?
1) Kennedy defeated Nixon in the 1960 presidential election.
2) Television debates have long been a part of campaigning.
3) Kennedy was the leading Democratic candidate in the 1960 presidential
election.
4) Television debates were instrumental in the outcome of the 1960 presidential
election.
117- The passage implies that Kennedy .
1) won the Democratic presidential nomination fairly easily
2) came from behind to win the Democratic presidential nomination
3) was a long shot to receive the Democratic presidential nomination
4) was not a front runner in the race for the Democratic presidential nomination
118- Which of the following is NOT mentioned about Richard Nixon?
1) He was serving as vice president.
2) He was nominated on the first ballot.
3) He campaigned strongly all over the country.
4) He was the Republican party’s candidate for president.
119- The passage states that the television debates between presidential candidates in
1960
1) were the final televised debates
2) were the first presidential campaign debates to be televised
3) were fairly usual in the history of presidential campaigns
4) did not influence the selection of the president
120- The passage states that in the debates with Nixon, Kennedy demonstrated to the
Americans that he was

1) better known than Nixon

2) more experienced than Nixon

3) old enough to be president

4) too inexperienced to serve as president
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PASSAGE 3:

When the president of the United States wants to get away from the hectic- pace in
Washington D.C., Camp David is the place to go. Camp David, in a wooded mountain area
about 70 miles from Washington D.C., is the official retreat of the president of the United
States. It consists of living space for the president, the first family, and the presidential staff as
well as sporting and recreational facilities.

Camp David was established by President Franklin Delano Roosevelt in 1942. He found
the site particularly appealing in that its mountain air provided relief from the summer heat of
Washington and its remote location offered a more relaxing environment than could be
achieved in the capital city.

When Roosevelt first established the retreat, he called it Shangri-La, which evoked the
blissful mountain kingdom in James Hilton’s novel Lost Horizon. Later President Dwight
David Eisenhower renamed the location Camp David after his grandson David Eisenhower.

Camp David has been used for a number of significant meetings. In 1943 during World
War II President Roosevelt met there with Great Britain Prime Minister Winston Churchill. In
1959 at the height of the Cold War, President Eisenhower met there with Soviet Premier
Nikita Khrushchev; in 1978 President Jimmy Carter sponsored peace talks between Israel’s
Prime Minister Menachem Begin and Egypt’s President Anwar el-Sadat at the retreat at Camp
David.

121- Which of the following is NOT discussed about Camp David?

1) Its cost 2) Its facilities 3) Its uses 4) Its location
122- According to the passage, who founded Camp David?

1) The first family 2) George Washington

3) Franklin Delano Roosevelt 4) The presidential staff

123- The pronoun "he" in line 10 refers to -------veeeeu >
1) Camp David 2) James Hilton  3) Eisenhower 4) Roosevelt
124- Which of the following is NOT true about President Eisenhower?
1) He named the presidential retreat Shangri-La.
2) He attended a conference with Nikita Khrushchev.
3) He had a grandson named David.
4) He visited Camp David.
125- According to the passage, Camp David
1) was not used during the Cold War
2) is a popular vacation resort in the U.S.
3) has not been used only as a getaway
4) was founded in the second half of the 20" century
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Which of the following about Sylvia Pankhurst(1882-1960), the English

campaigner for women's suffrage, is NOT TRUE?

1) She became a pacifist in 1914 and in 1921 was imprisoned for six months for
seditious publications.

2) After the [talian invasion ofEthiopia in 1935, she devoted her life to that country's
independence, settling there permanently in 1956.

3) She was the only working class woman to become part of the senior hierarchy of the
WSPU (Women’s Social and Political Union), becoming deputy in 1912.

4) Her works include The SuffrageMovement (1931) and a biography of her mother,
published in 1935,

Which of the following about ‘Festival of Britain’ is TRUE?

1) It was an industrial exhibition held in London May—September 1951 to
commemorate the 100th anniversary of theGreat Exhibition.

2) It was a world fair held in Hyde Park, London developed mainly for the
purpose of glorifying British manufacture after World War II)

3) The festival was held mainly inside a huge structure of glass and iron in St.

James’s Park, London.

4) The South Bank of the Thames formed the focal point of the event,

Which of the following about the English Conservative politician William Hague

Jefferson (b. 1961) is NOT TRUE?

1) After the Conservative Party's defeat in the May 1997 general election, he succeeded
John Major as party leader.

2) He launched a joint UK-Irish peace initiative on Northern Ireland in 1993, which led
to a general ceasefire in 1994,

3) In 1998 he committed the party to oppose joining the European single currency for at
least a decade.

4) He came to public attention in 1977 when, at the age of 16, he addressed the party's
annual conference.

Events in the Victorian age occurred in the correet order in.............

1)Crimean War— American CivilWar - Chartist Riots

2)Chartist Riots=> Crimean War—>American Civil War

3)Chartist Riots=> American CivilWar = Crimean War

4)Crimean War-> Chartist Riots—> American Civil War

The British political and cultural magazine,........c.....n , is left-of-centre in terms

of its political position, with a historical socialist background.

1)New Statesman 2)The Spectator

3)The Salisbury Review 4)Right Now!

The Arts Council of Great Britain was established as............. public body

1) SOOI 1o PP

1)a Ministry of Culture affiliated / Tessa Jowell/ 1992

2)a private and independent / Roger Fry / 1928

3)an entirely governmental / Edward Heath / 1973

4)an independent (but government-funded) / John M. Keynes /1945
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132- Events in the 20th-centuryBritain occurred in the correct order in.............
1) Empire Windrush brings West Indians to U.K->Suez Crisis->»Nigeria becomes
independent
2) Suez Crisis=> Empire Windrushbrings West Indians to U.K-»Nigeria becomes
independent
3) Suez Crisis=>Nigeria becomes independent-> Empire Windrush brings West Indians
to UK
4) Empire Windrushbrings West Indians to U.K->Nigeria becomes independent->Suez
Crisis
133- Which of the following about the British ‘Green Party’ is NOT TRUE?
1) It was originally founded in 1973 under the name ‘People’, to offer radical solutions
to environmental problems.
2) The party has also suffered through its reluctance to act likeconventional parties, as
in its unwillingness to choose a single leader.
3) The Green Party’s paradoxically right-wing tendencies arerevealed in its support for
membership in NATO and the European Union,
4) In the 2007 European elections, the Green Party attracted itspeak support of 2.25
million votes, yet failed towin a seat.
134- In British political history, which of the following about ‘the black conservatives’
is TRUE?
1) John Major elevated six black MPs to the House of Lords for the first time during his
premiership
2) In 1987, four black Cpnservative MPs became the first to be elected to Parliament for
almost two decades.
3) The first black Conservative MP, Nirj Deva, was not elected to Parliament until 1992
4) John Taylor, a black barrister, was supported by the people of Cheltenhamin his
attempts to be selected ascandidate for Cheltenham in 1992.
135- Which of the following about theWomen’s Institute (WI) network in England and
Wales is NOT TRUE?
1) Still flourishing, and visible sellinghomemade produce and handicrafts at fairs
And village halls, the W1 has around 9,000 branches inBritain.
2) Noted for its middle-class, middle-agedimage, the organization moved to Britain
From Canada in 1915.
3) It offers social and educational facilities particularly for country women.
4) It had a wide base among working-class women in the industrial areas, with its
function being the provision of education mainly for disadvantaged women.
136- As regards post World War II cultural history, Britain witnessed a particularly
unprecedented period of school building............ , partlyas a result of.............
1) in 1965 to 1970 / student protests in Europe (which had also spread to Britain)
2) in the 1950s / the 1944 Education Act
3) even during the WW II / the 1944 Education Act
4) in the late 1970s / Britian’s joining the EU in 1972
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Which of the following about the Daily Telegraph, “Britain’s best-selling ‘quality’
daily newspaper”, is TRUE?
1)Daily Telegraph, like most of the rest of national press, deserted Fleet Street, the
traditional home of the British press, for the Isle of Dogs in the late 1980s.
2)Its readers, mostly men under forty, tend to be reform-minded, middle-class
professionals working in the culture industry.
3)Though criticism of the Labour Party is not precluded, the DailyTelegraph is
generally regarded to be firmly oriented towards the left in politics.
4) It was founded in 1938just before the Second World War and was one of the few
newspapers during the war which was subsidised by the government for propaganda

purposes.

As regards contemporary British culture, which of the following about “giro

culture’ is TRUE?

1)Giro recipients were highly successful 1980s entrepreneurs.

2)It was associated with fair and successful business practice, in both goods and jobs.

3)It became an icon of solidarity with the increase of joblessness in the early 1980s.

4) Leisure centres, cinemas and clubs would normally overcharge giro recipients.

Which of the following concerning the Irish communities of Britain is TRUE?

1) The Irish community is historically associated with the rural areas of south eastern
England.

2) With the Great Irish Famine of 1845-8, the steady wave of emigration from Ireland

to Britain began and continues to this day.

3) Irish people have been coming to work and livein mainland Britain for nearly a
century.

4) It is the largest ethnic group in Britain after the South Asian community.

As far as the British culture of the 20th century is concerned, ‘Teds’was a youth
subculture of the.............. ; they were...ooveen young men who adapted the clothes
of theEdwardiandandy.

1) mid-1950s / middle class 2) late 1930s / middle class
3) late 1930s / working class 4) mid-1950s / working-class
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PyccKkuu A3bIK.

— BbibepuTe npaBunbLHbLIA BapUaHT.

141.

142.

143.

144,

145.

146.

147,

148.

149.

150.

151.

152.

Yxaxurte BapHauT ¢ omubxoil B 00pazoBannn GopMEI MHCANTENLHOTO.

1) c naTHAECATEIO PYDIAME 2) B IBYXCTAX MeTpax

3) B noayTopa yacax 4) K mecTicTam yueOHHKam

Yxaxnare npamep ¢ omubxoi B obpazosannn GopMsel ci10Ba.

1) Her conmaToB 2) y anrnuyan 3) HET YYJI0K 4) HET KOHCepBaTOpHii
Mbi TaK B HE HOMHPHIHCD: wovorrerressesrerss OHA HE YCTYIIHIR MHE, veerniresssesensas u eil.

1) HE TO... , HE TO... 2) WIN... , HIIH... 3) na..., na... 4) HH.... , HH...

On Beera NPHAEPIKHBAICH woverrrrnsreresraes .

1) ctporuii pexumM 2) CTPOTHM PEXRUMOM

3) crpororo pexuma 4) cTporomy pexHMY

Koraa of ....cevcvnvnaens B Maun, on Bugen sun3y nycrsimio Caxapy.

1) exan 2) neren 3) neran 4) ezpun

Kurna o“a Bnma n‘ a}’m“pnm’ mﬂm LR L L e s L Te“ﬂ.i
1) nepesomumn 2) nepeBojAT 3) nepesenn Oul 4) mepesenyT

B kakom BAPHAHTE HAIBEAHE! CNOBA MYKCRKOI0 I}Eﬂﬂ?

1) cryneus, KOpH 2) nebens, baHnepos
3) poans, aTTame 4) nens, MOPKOBE

B xakom BAPHAHTE OTBETA BLIEJEHHOC CIOBO YHOTpebIeHO HeBepHO?

1) Jlerouky ogeBany HapsIHO, TOYHO KYKITY.

2) Mars crapanack ofeTh pe6€nka noGeictpee.

3) Oren oz1es1 O4KH, H JIHLIO €70 CTAN0 KA3aThCA COCPENOTOYCHHEIM.

4) Korna [lumouky ofeBalmy Ha MPOTYIKY, OH HAYHHAJI KANPH3HHYATH: eMmy OBICTpO
CTAHOBHJIOCH XAPKO B 3UMHEH Oexae 1oMa.

¥Yxkaxkuare cHROEHM $Pa3eoNorHIMy «oIHOTO NOME ATOAA».
1) ckuTEH cO cBeTa 2) aBa canora napa
3) CHOMT B MeYeHKax 4) 3aMeTHTE Cle/Isl

Kaxoii BapranT CHEOHHMHYEH Bhiie/IeHHOMN YacTH HHXKeC/Te/IyI0Mero nperioxenns?
«llepeBons cTaTEIO, § NOJAB3IOBAJICH CJIOBAPEM.»

1) Korzna s nepesen 2) na Toro 4Tobul NepeBoAHTE
3) [ocne Toro kak nepese 4) Kornia 8 nepepoaun

Kakoe ciioBo apngerca npagacruem?
1) sacBeucHHBIH 2) napcTBEHHEBIH
3) GpuTBEHHEIIH 4) bencreeHHEBIH

B kaxom cioBe KoaH9ecTBO OYKB H 3BYKOB coBnajaer?
1) Goazne 2) Maccus 3) BOCEMBE 4) acnm
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153. Bee 10, 9T0 paccKa3an B CBOEM BHICTYIVIEHHH 3TOT BHIAAKMINHCE HOTHTHK, coveesnsrrnrarsren .
1) naTEpECEH M HOB 2) HHTEpeCHOE H HOBOE
3) HHTEpECHBIH U HOBBIH 4) HHTEPECHO X HOBO
154. Kaxos THN HHAeC/IeIYIOMHEX HpeiIoKeHn?
«Houn. Boxpyr TRIERAY
1) HassIBHOE 2) 06061meHHO-THYHOE
3) onpejeneHHoO-THIHOE 4) Heonpe/eneHHO-THYHOE
155, HacTymHIH TAKHE 3AMEUATETLHBIE THH, wmcomsensose OmmBaiwr B Ilerepbypre ronnke B
CaMOM HAYANE JieTa.
1) ecrn 2) ubH 3) kakune 4) xorja

B. Pycckaa uctopus u KynbTypa.
— BuibepuTte npaBunNbHLIA BapuanT.

156. Kakoe 63 HaspaanLIX cofbITHI npoR3oma0 Bo BpeMs napcreopanug Exarepuns: 11?7
1) nepxoBHKIH packon 2) «nyraucBIIHHAY
3) «ecmyTan 4) npososrnamenne Poccun nmnepueit

157. Ky/mkosckas GHTBAR HPOHIOMUIA B ...covveuucreersenes .

1) 1240 r. 2) 1480 . 3) 1223 r. 4) 1380 r.
158. Jlorosop o pocoycke CCCP B 1991 r. HOANBCANH TTIABBI «ovvvscserssssssass
1) Poccnn, benopyccun, Ykpaunsi 2) Poccun, Ka:mcmna, Yxpaussl
3) Beex pecnybmnk 6pBmero CCCP 4) Kazaxcrana, benopyccuu, Yxpauns:
159. Kaxoe pemenne npunsa M.H. Kyrysos B 1812 r. na Bocanom cosere B jepesne Onian?
1) nats cpaxenue npu boponune
2) nats cpaxenue y peku bepe3nHnl

3) 3aKmo4MHTE MHpHOE cornamenye ¢ Hanoneonom
4) BrIBECTH poccHHCKHE Bojicka H3 Mockail 6e3 foa

160. Oanem m3 pyxosoguteaci Cesepmoro obmecTBa nexabpHCTOB, MOITOM, HIAATENEM

aabmanaxa «llongpuam 38e33a» DBLI .vvviinisisnnnns ;
1) A H. Pamumes 2) H.H. Hoeukos
3) K.®. Prnees 4) I1.51. Yaanaes
161. Koncrarymus P® Ouina npansara 12 gexabps 1993 1. ccvenennisnnnecne
1) BepxosauiM CoseroM PO 2) CoseroM mc,:[epa.mm PO
3) npesnnentom PO 4) BCEHApOJHEIM TONOCOBAHHEM

162. Kaxoe 3 nepevmc/IeRHbIX CODLITHI NPOK30MAD paHbINe BCEX APYrHX?
1) Kpemenue Pycn 2) Henckaa Gutea
3) KpeimMckas BofiHa 4) Kynukorckas Outsa
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163. Konnexuns I1.M. 1 C.M. Tperpaxossix B MockBe SBASIOCH CODPAHMEM ....covvnescernrnes
1) peaxux nepsoneYaTHIX KHHT
2) pom3BeIeHHH PYCCKO# XKHBOIIHCH
3) penHkBHit poccHiCKOH rocyjapCTBEHHOCTH
4) MaTepHaOB 110 HCTOPHH EBPONEHCKOTO rocy1apcTBa
164. Kaxoii pyccknii naps He 6511 poom n3 quracTun PoprxkoBuyei?
1) Upan ['posnniit 2) Apocnas Myapsrii
3) Bnagumup Monomax 4) Muxann Qegoporuy
165. Kax ymep Bopuc I'oaynos?
1) On 6511 yOuT MONbeKAMH BOHCKaMH, HanaBmmMH Ha Mockgy.
2) On 6511 yOuT B pesynbrare 3aropopa 0osp.
3) On 6511 yOouT JIMuTpHeM CaMo3BaHLEM.
4) On yMep ecTeCTBEHHOI CMEpTHIO.
166. Kax naisiBaercs raasmoe nponseesenne Baagumuapa Monomaxa, agpecoBannoe «reram
HIH K HHBLIM, KTO Opowyrem»?
1) dloyuenue» 2) «Pycckas npasjiay
3) «llpaspa» 4) «Pycckuii BECTHHK»
167. Ko cran umneparpuneii Poccun nocie emepru Merpa I?
1) ero crapmasn fous Exarepuna | 2) ero xeHa Exarepuna I1
3) ero xena Exarepuna I 4) ero crapmras 1096 Exarepuna I1
168. Kakoii oTBer He oTHOCHTCH K Adexcanapy 11?7
1) OH oTMEHMI KPETIOCTHOE NMPaBo.
2) O co3pan OTps/ ONPHYHAKOB.
3) On mpoBen pa3IHvHEIE BAIE pedopM.
4) On 6511 y6ut wienamn «Hapoano# Boma».
169. Kakoil smaszon u3 su3nne Weana I'posroro Berpesaerca B kapraae H.Pennna?
1) UBan I'posuuiii ybusaer crina.
2) Upan ['po3Hklif BOIOET C MONIKaMH.
3) Msan I'po3Hkiii HaKa36IBaCT MPOTHBHHKOB.
4) Unan I'po3unlii npyuHAMaET HHOCTPAHHEIX TOC/OB,
170. Kro crosa Bo rxase pycekux soiick npn Kyauxorckoii 6urne?

1) Mamaii 2) Usan Kanura
3) Imurpnit Jlonckoi 4) Anexcannp Hesckuii
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171-

172-

173-

174-

175-

176-

177-

178-

179-

180-

181-

182-

183-

(gl b)) dudly$ Ko 3 9 g )b g gl L

I-Cochez la réponse correcte:

Il braquait sur I'homme blessé un énorme appareil & rayons .

1) ultra-violets 2) ultras-violets 3) ultra-violet 4) ultras-violet

Quand on le beeuf bouilli, on servit des quartiers de veau.

1) a mangé 2) ait mange 3) eut mange 4) aurait mangé

I1 s’est embarqué dans cette affaire du danger.

1) faute 2) malgré 3) & défaut 4) au mépris

C’est 4 ce moment-la qu'il un crépitement de petits bruits menus

largement étalés, Il : la, une lointaine charrette qui
SUr ses essieux.

1) entend / écoute / ce fut / s'est plaint

2) entendit / écouta / ¢’était / se plaignait

3) a entendu / a écouté / ¢’est / s”était plaint
4) ait entendu / écoutait / ¢’était / se plaigna

Ma mére me disait: « Quel malheur que tu les bras, car tu
le cceur de ton pére.»

1) n’es pas / aies 2)n’eusses pas/as 3) n’aies pas/ as 4) n’ais / ais

L'ourson .....ccoevevinnnnnn la porte de ma chambre que ouverte, il

était monté sur le fauteuil et sur le lit.

1) poussa / jai eu laissé 2) fut poussé / j’avais laissé

3) eut poussé / j’ai laissé 4) avait poussé / j’avais laissée

Une fois que vous : le texte, vous le en quinze lignes.

1) comprenez / résumez 2) ayez compris / résumiez

3) aurez compris / résumerez 4) avez compris / résumerez

1l est tard! Pourrons-nous encore trouver de I’essence?

1) Non, a cette heure-ci, nous n’en trouverons nulle part.

2) Non, nous trouverons bien n’importe ol.

3) Non, ce n’est pas grave, nous trouverons toujours ailleurs.

4) Non, a cette heure-1a, nous trouverons partout.

Il vaut mieux partir en avance ; ainsi, on n’a pas a se presser, on a tout
temps !

1) son 2) ce 3) notre 4) le
Donnez le participe passé des verbes suivants:

Asseoir- extraire- fuir-conclure- reconnaitre- permettre

1) Assis / extrait / fuit / conclut / reconnu / permis

2) Assis / extrait / fui / conclu / reconnu / permis

3) Asseois / extrais / fuit / conclus / reconnais / permi

4) Assieds / extrait / fui / conclut /reconnus / permets

Je souhaite que ce roman

1) lui plait 2) lui ait pliit 3) lui plaise 4) le plaise

Depuis le moment ou il ce travail, il ne s’est pas accordé une
journée de repos.

1) a entrepris 2) entreprenne 3) entreprend 4) s’est entrepris

C’est une neige molle .

1) de quoi il faut se méfier. 2) & qui il faut s’en méfier.

3) qu'il faut s’en méfier. 4) dont il faut se méfier.
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184- Dans la phrase suivante :« Maxime écrit une lettre 4 son grand-pére », une lettre est
un complément objet a son grand pére un complément objet

1) indirect / direct  2) second / indirect  3) direct / second 4) second / direct

185- Dans la phrase suivante: « Si le professeur était absent, nous n’aurions pas de
devoirs ce weekend. » L’imparfait ici
1) a sa valeur de base
2) a une valeur modale : hypothétique
3) est employé avec une valeur d’atténuation
4) est utilisé pour situer le procés "était" dans une chronologie

II-Tests de culture générale
Cochez la réponse correcte:

186- Le nom de régime de Vichy désigne le régime politique dirigé par y
qui assure le gouvernement de la France au cours de la durant
I'occupation du pays par les forces armées du Troisiéme Reich, et dont le siége se situe
a Vichy.

1) le maréchal Philippe Pétain / Seconde Guerre mondiale
2) le président Albert Lebrun / Premiére Guerre mondiale
3) le général De Gaulle / guerre franco-prussienne

4) Pierre Laval / Guerre mondiale

187- Depuis mai 2012, Frangois Hollande est élu avec des suffrages
exprimés au second tour de I'élection face a comme président de la
.................... république.

1) 51,64% / Nicolas Sarkozy / cinquiéme
2) 82,21% / Laurent Fabius / quatriéme
3) 50,81% / Manuel Valls / sixiéme

4) 58,21% / Marine Le Pen / septiéme

188- L’électricité d’origine est la principale énergie produite et
consommeée en France.
1) nucléaire 2) éolienne 3) hydraulique 4) mécanique

189- , Ia TTII° République francaise en développant un programme massif

d’instruction populaire, entreprend de créer les conditions de fonctionnement
reposant sur la participation du peuple souverain dans son

intégralité,
1) Durant la premiére moitié du XIX® s. / d’un syndicalisme
2) Au début du XX" s. / d’un socialisme démocratique
3) A la fin du XIX® s, / d’une démocratie parlementaire
4) Durant la Seconde Guerre mondiale / d'un communisme
190- «Plus qu'un roman psychologique, c’est, si I’on peut dire, une étude de médecine
politique concernant cette France de Charles X ». De quel roman de Stendhal s’agit-
il?
1) Lucien Leuwen 2) Armance
3) La chartreuse de Parme 4) Le Rouge et le Noir
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191- Avec Les Hommes de bonne volonté, Jules Romains peint dans la réalité historique
francaise ————-——-- '
1) la Révolution comme fait individuel
2) I'idéal républicain et les problémes politiques au début du XX° s
3) les héros nationaux qui transforment le monde au lieu de s'en accommoder
4) la Résistance a I’occupation allemande pendant la Seconde Guerre mondiale
192- Au XVIII° s., la libre pensée s’applique a la religion , mais aussi -—=—--eeeee- .
Le libertinage devient alors uniquement synonyme —--
1) & la littérature / de panthéisme
2) a la philosophie / de I"ascétisme
3) 4 la tradition / de I"incrédulité
4) a d’autres domaines / d’immoralisme
193- Le roman de science-fiction moderne réfléchit de plus en plus a Pavenir de la société

et aux questions —------- —
1) écologiques 2) philosophiques  3) géographiques  4) médicales
194- Le mot est inventé en 1977. Dans ce genre littéraire, I'auteur est le

héros autour de qui tout s’articule et I'histoire, qui repose sur les données réelles, est
vraisemblable mais fabulée.
1) autoportrait 2) autobiographie  3) autofiction 4) automythobiographie
195- A la suite des expériences surréalistes et du mouvement du Nouveau Roman, qui
laissent s’exprimer I'inconscient, les romans de la fin du siécle nient toute opposition
entre a
1) le texte et le métatexte
2) le récit de la fiction et le récit historique
3) analyse psychologique et étude de meeurs
4) étude psychique et analyse du personnage
196- Pour étre diffusé en France, un film doit obtenir une autorisation administrative
délivrée par le ministre . C’est la Commission de la classification du
CNC qui visionne les films et donne ses recommandations pour I’attribution -------——
par le ministére,
1) de la culture / d’un visa d’exploitation
2) de I"éducation / d’un diplome de représentation
3) de I'intérieur / d'un certificat de validité
4) de formation / d’une licence de spectacle
197- Au XVIII® 5., des préoccupations nouvelles définissent le philosophe :

culte de la Raison, technicien de la philosophie, exercice de Pesprit critique,
1 2 3

service de la société et du progrés.
4

198- Le terme «socialisme» est introduit par l'ouvrier typographe Pierre Leroux.

Ce terme désigne initialement un mouvement de pensée et d’action, idéaliste,
1
individualiste, plutdt pacifiste et réformiste, en réaction a la misére ouvriére mais
2 3 4
aussi contre la dissolution des liens sociaux engendrés par le capitalisme naissant.
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199- Les Temps modernes apparaissent en Europe et en France par ’humanisme,

1
invention de 'imprimerie, la découverte des terres inconnues et la_colonisation,
2 3
le développement de I'artillerie et la Premiére Guerre mondiale.
4

200- En quatre ans, le régime consulaire de Napoléon Bonaparte garantit I’ordre intérieur,

réorganise le pays, déclare la guerre contre I'Eglise, restaure les finances,
1 2 3

crée une nouvelle monnaie (le franc), publie le Code civil.
4
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201-

202-
203-

204-

205-

206-

207-

208-

209-

210-

211-

212-

213-

214-

215-

Which political party won the 2014 general elections in India?

1) Lok Dol 2) Congress Party

3) Janata Party 4) Bharatiya Janata Party
....was the court language during the Mughal rule in India.

1) Hindi 2) Urdu 3) Persian 4) Sanskrit
India gained its independence from British colonial rule in.....

1) 1947 2) 1949 3) 1952 4) 1956
.....was the first ruler of Maurya Dynasty

1) Chanakya 2) Ashoka

3) Chandragupta 4) Aurobindo Ghosh

....was the first leader of Indian Independence Movement.

1) Indira Gandhi 2) Mahatma Gandhi

3) Lal Bahadur Shastri 4) Lokmanya Tilak

Which political party has ruled over India more than any other party after its
independence?

1) Congress Party 2) Lok Dal

3) Baharatiya Jana Sangh 4) Rashtria Lok Dal

Who was the founder of Arya Samaj movement in India?

1) Gandhi 2) Sarasvati

3) Man Mohan Roy 4) Swadeshi Jagaran Mannch
What is the oldest Hindu holy Book?

1) Rigveda 2) Samveda 3) Atharrvaveda 4) Yagurveda
Name the three great gods in Hinduism

1) Parvati, Durga and Kali 2) Shiva, Saraswati and Lakshmi
3) Shiva, Vishnu and Brahma 4) Vishu, Brahma and Krishna
What is the name of God of Wind in Rigveda?

1) Agni 2) Suria 3) Savita 4) Vayu
When was Babri Mosque demolished in India?

1) 1989 2) 1990 3) 1992 4) 1995
What does Kesh mean in Sikh religion?

1) Carrying a short dagger

2) Not cutting one’s hair

3) Wearing white underwear
4) using comb and combing one’s hair twice a day
What are the two of the world’s greatest epics in Indian history?

1) Gita and Ravana 2) Krishna and Arjun

3) Ramayana and Gita 4) Ramayana and Mahabarata
What is the triple gods called in Hinduism?

1) Trimorti 2) Sarasvati

3) Brahmans 4) Ravana

Which temple was built in place of Babri Mosque after it was demolished?
1) Mahavir 2) Ram Temple

3) Yogmaya TEmple 4) Sarkara Devi Temple
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216-

217-

218-

219-

220-

221-

222-

223-

224-

225~
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What are the three main ideas of historiography in the United States in 19
centery?

1) God, Gold, Gun 2) Science, Wealth, Slavery

3) Progress, Liberty, Mission 4) Expansion, Democracy, War

Who developed the idea of "Significance of Frontier in American History?"

1) Henry Adams (1985) 2) George Bancroft (1883)

3) Francis Parkman 4) Frederick Jackson Turner (1893)

The rise of professional histerians began by teaching specialized courses in history
in which university in the United States?

1) Harvard University (1835) 2) Yale University (1789)

3) Columbia University(1903) 4) John Hopkins University (1876)

In which war European colonists beheaded the leader of Native Americans and
then mutilated his body and displayed it for 20 years?

1) war with Mohawks (1693-1697) 2) king Philip war (1675-1678)

3) war with Cherokees (1761-1769) 4) war with Yamasses (1713-1715)

Who is the author of the book "the Cycles of American History' in which he talks
about changes between "public purpose" "and" private interest?

1) Arthur M.Schlesinger Jr. (1986) 2) Walter Russel Mead (1968)

3) Henry Adams (1805) 4) George Fox (1942)

When did the American Historical Association start operation and publish its
major journal "The American Historical Review"?

1) 1884 and 1885 2) 1893 and 1896

3) 1907 and 1909 - 4) 1890 and 1902

Who wrote the "Blackface Minstrel Tune" that came to be known as Jim Crow, or
the system of racial segregation in Southern States?

1) John Paul Jones (1742 - 1792)

2) Mary Harris Jones (1837 - 1792)

3) Thomas Dartmouth Rice (1808 - 1860)

4) Hiram warren Johnson (1866 - 1945)

What was the name of committee in the House of Representative established to
investigate "un-American activities" attributed to American communists in 1930’s
and 1940's?

1) Dix Committee (Dorothea Dix of Boston)

2) Dies Committee (Martin Dies of Texas)

3) McCarthy Committee (Joseph McCarthy of Texas)

4) Davis committee (Richard Davis of Alabarna)

Reconstruction refers to the era?

1) After the Civil War 1865 — 1877

2) Between war of 1814 and the Trail of Tears 1830

3) Between the French- Indian war and the Revolution 1763 - 1774

4) Between the Revolution and the Constitutional Convention 1774-1787

Who is the author of this quote "well Gentlemen we must now hang together or we
shall most assuredly hang separately?"

1) John Adams 2) Thomas Paine

3)Benjamin Franklin 4) James Madison
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226- The Cousin’s War refers to
1) French — Spanish wars during 1630 — 1632 , 1640 — 1645, and 1651-1655
2) British American wars during American Revolution, War of 1812 and Civil
War
3) The Picot and Cheyenne wars during 1652 — 1655, 1663 — 1668, and 1678 -
1681
4) War between Whigs and Royalists in England 1640 — 1642, 1643-1645, and
1647-1650
227- "Mad Dog" Strately refers to
1) F.D.R strategy during WWII
2) Nixon’s strategy during Vietnam war
3) George Bush strategy during invasion of Iraq
4) John Kennedy strategy during Cuban Missle crisis
228- Tenth Amendment of U.S. Constitution does emphasize that:
1) in all criminal prosecutions the right to a speedy and public trial
2) Excessive bail shall not be required nor excessive fines imposed
3) No person can be held to answer for a capital or otherwise infamous crime
unless indicted by a grand Jury
4) reserve to the states and their citizens all powers neither delegated to the
federal government nor denied to them explicitly
229- "The liberator" was
1) weekly magazine of the Black Panther Party (1962)
2) weekly newspaper of the Nation of Islam (1935)
3) weekly newspaper of abolitionists published by William Lloyd Garrison
(1831)
4) weekly magazine of anti — war Movement on the campus of UCLA (1966)
230- The term "Gilded Age" drew its name from a Novel by
1) Mark Twain (1835 - 1910) and Charles D. Warner (1829-1900)
2) Samuel Gompers (1850 - 1924) and John Dickinson (1732-1808)
3) Eli Whitney (1765 - 1825) and Peggy Eaton (1796 — 1879)
4) Margaret Louise (1883 - 1966) and Stephen Douglas (1813 - 1861)
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